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B 1.00 3, 553. 00 3,553/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 53, 138. 00 53, 138 8H
Bl EEFHED
A 1.00 54, 600. 00 54, 600
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
RIEBF
A 0.50 34, 600. 00 17, 300
GNSSRIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LTEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
AN 2H0%
% 2.00 578, 231. 00 11, 564
& b E%8EH :0.23km 2 2,564, 326. 00 589, 795
&S :2-8
W BIRBT—42EEAM () BIBE 1KY
2 £ g - BIRTE By = =i} %8 W= " =
RIS EFHED
A 3.10 54, 600. 00 169, 260
B EHER
A 4.10 47,100. 00 193, 110
B E A
A 6. 20 36, 900. 00 228, 780
A 2H0%
% 4.00 591, 150. 00 23, 646
& b 1EZRER : 1.00 614, 796. 00 614, 796
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&S5 :29
B BIRT—48E(GEET) (ICT) ) BIAS 1KY
2 o g - BIRTE By = =i} %8 " =
RIS EFHEm
A 5.10 54, 600. 00 2178, 460
B EHER
A 14.40 47,100. 00 678, 240
B E A
A 13. 60 36, 900. 00 501, 840
AN 2{KD%
% 4.00 1,458, 540. 00 58, 341
& b 1EZREA - 1.00 1,516, 881.00 1,516, 881
&5 :2-10
B EBBERR 1KY
2 £ g - BIRTE By = B %8 " =
EBHERRE
= 1.00 100, 000. 00 100, 000
& it 1EZRER - 1.00 100, 000. 00 100, 000
&S : 31
B SREHBEtT—HER EBIRF iiEER,
2 £ g - BIRTE By = =i} %8 " =
F1EBAR GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 1.50 47, 200. 00 70, 800
HAf (C)
A 1.00 38, 400. 00 38, 400
& it YE%8Eh ;1. 00 ER 259, 500. 00 259, 500

23




Rifiz -/ \v7r—o

HHN6EEE L B(h R EOMER(—12m)(H R)RR T E(FE4R)

&S .32
&% BEARE
£ R R - BkTik By H =2 B f ® B = " %
EERARE
= 1.00 7,785.00 7,785
& H) EKBEA - 1. 00 7,785.00 7,785
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